NHBEIR R — RE S 5-07-19-041-06-0065
F nNa—hbL—=>7 (BEEREE IR AR £

S - ~ j(g%
15 B & 2 3
&%%%Kvﬁiﬁﬁﬁ

'wf P
2 ' TN
2 : |

4 " !
4 = PNt - V<

ARAE O 2R -FENEEEE O BMAOFAN, RiEY RUIER
O BEYE, &4, EREEMEY OZEAMMAUVEIAENIRKRV
O R EHFDKAER Uz

G REEHE B 5 ¥ i@
- 2MRIREEARE GERED RREMBIBTBLNIT. -EET
cF =V I BRARERNBEEE T
C 7NN R ARG AR BRI EE T L
CMIEERRERBE R EWAEREE T

(B &£ 8Hm)R7TF6H308 (B) ~2f7F9H828 (K)
*BR(RE. BASALITVET., (BER)
(I s> RMTEIO0ORA2H (K) ~4m8F3A 138 (£) 6,AM
[h#%B] £ - B - MARVLFTEI 28268 (&) ~4f8EI1 A58 (A)
Call R B [ ) A B ~&EBNEAB FRIBEE4 ODHN LF%3IBES5090FT
(&E E) I5%
(ANREZB) RFMTEIR |1 08B (K) ordrvEaogse 9A1 18 (K )

SR |, SR 3T Bk 8 B AT B PT

T400-0501 fEERNE T )IIETEHPET3492
TEL 0556-22-3171 FAX0556-22-3172

& Q| ®zzzsyvy




EEARMAUVETEORRVA, 6, ERICE T 2BARFNEEFR, EROR
fE-o2KIEW - BB - BEAIYENBAHALCPICAENRRE LB ERMBHEZBB/LE T,

(A F254L (723H) ] %A F2S5LIE—BEEICRSBE DY T,

o% # (80H) O% # (641H) OZnft (2H)
. BE R E (7H) RAE ) AE R X (35H) M KENmRE (2H)
AU %aS fﬁ'ﬂfﬁ%%ﬁ (14aH) B EARMEE (105H)
T RUREM  (14H) HEEAKRMEZE (273H)
w B & (42H) pl 2 (IIH)
pil = (3H) B® % M E (1I19H)
w# B ® B  (56H)
Z & £ F¥  (42H)
B CRobolzacBBLRY IT, )
OME. fFxXE. BT %920,900M
X @M OBARNEERES #30,000f (&&rHhiA7<156
OF =z — >V — It L BEARFRINHE ZHH 24,000H
OBZEINRER SRR 4,900 (£&E)
EREAGROBE KT AL T 5 KEE
(BBl LT AHRBERER (V\a—7—7) ICKEEWIALZE L, BEEKETZT
EEIc o | RER ARBEREHRESTEB>LATED. )
s 2 IREHE
BEMAKEXTLRIC NREE - BEE BATELMN) 2. EEMcEET S
Na—7—70EOICRELTLEIV, REFHIEI\o—7—JICABLTHY
¥, B BHINABHEIRBELICADT, TTEALIEIL,
AREE BEAOEECRKZFICOVWTL, FIRERLET T, BEERIOVWTE, EHEEM
1o\ o | EARARICERE I TERsE LET,
NRRE B % mER VEERE
AFREAR . BRRMRZGE L. BRARRERAFLEE LB T SN TEET,
0 Tz TNUSDFICIE, BRIMZBENEEBTHI U TESHENHY
T, WINL, FEHOIBICB—ENEHIHY ITTOT. UTEEMEEET S
NO—T7—7DBEANTHHKLL LI,
< 3T gk i 7 S AT PO > I
T400-050| ER7ILIAD | &
mEBEANE LI BT 18T 3492 @ e & Az
TEL 0556-22-317 | i 8
* EREL BB (ERY R ]
=1 =
‘ ) BT 15 I = B
BEISF o B |
RO BREE X pr——— - — .
=45 (B EEeE | o =
34835 7 B (B0) e Bak I R R

Bl

AL

ES
I NE—=7 3 iR
= e i

PN 3: VNE
=1iEf




	スライド 1
	スライド 1

